MLODOO 40
HEN

00,00,00

00 4 (optional)
1. O (ring) 00O signature RING DO OO 0.
2.RINGOO00000O0O000O0O0D0OO0OO0OO0O0OO0O0O0.

3. 0000000,000000000000000000 functor MakePoly
U0OO000. MakePoly O 2000000000000000O,000
b rINGUDOOOOOOOOOOOOOOOOOOOOOOa.

o0 OO0 ROODODOUODOODOOD 40 «0D000D00OODOOOO
goooo.

l.+0 +0000. 0000,000 abec ROODODO ax(bsc) =
(axb)xc00 a+(b+c)=(a+b)+ec

2.+ 0000000000
3.«000000000002

4. «x0 +0000D00DODOOD. DODO,D000 a,b,ce RODOO
Oax(b+c)=(a*xb)+(axc) 00 (a+b)xc=(axc)+ (bxc).

RING [

1. 0000000000000 t.
2.x 0000000 mul.
3.«0000 one.

4. + 0000000 add

lDoooDo00DDO000o0o0oDo.
200000000000000000. 00 «0000000000000000000,
gooooooboooooooooooo.



5. + 0000 zero.
6.t 000000000 +00000000000 neg
7.0t00000000000000 print

00000000000000000000 signature 000000 . (0mul
goboboobO0,Oene 0000 ml O0O00OOO0OODOOODOOODOO
00000 MLOOOOOOoOoOOoOooooo,)



